
Building Bricks Multiplication  
2 × Table

1.
2 + 2 =

2 × 2 =

2.
2 + 2 + 2 + 2 =

4 × 2 =

3.
2 + 2 + 2 + 2 + 2 + 2 = 

6 × 2 =

4.
2 + 2 + 2 =

3 × 2 =

5.
2 + 2 + 2 + 2 + 2 =

5 × 2 =

6.
2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =

10 × 2 =

Can you add up the bumps on the building bricks to complete these  
multiplication calculations?

visit twinkl.comPage 1 of 1



Building Bricks Multiplication  
5 × Table

1.
5 + 5 =

2 × 5 =

2.

5 + 5 + 5 =

3 × 5 =

3.

5 + 5 + 5 + 5 + 5 + 5=

6 × 5 =

4.
5 + 5 + 5 + 5 + 5 =

5 × 5 =

Can you add up the bumps on the building bricks to complete these  
multiplication calculations?
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5.

5 + 5 + 5 + 5 + 5 + 5 + 5 =

7 × 5 =

6.

5 + 5 + 5 + 5 + 5  
+ 5 + 5 + 5 + 5 + 5 =

10 × 5 =
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Building Bricks Multiplication  
10 × Table

1.
10 + 10 + 10 =

3 × 10 =

2.
10 + 10 =

2 × 10 =

3.

10 + 10 + 10 + 10 + 10 =

5 × 10 =

Can you add up the bumps on the building bricks to complete these  
multiplication calculations?
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4.

10 + 10 + 10 + 10 =

4 × 10 =

5.

10 + 10 + 10 + 10 + 10 + 10 =

6 × 10 =
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6.

10 + 10 + 10 + 10 + 10 
+ 10 + 10 + 10 + 10 =

9 × 10 =

visit twinkl.comPage 3 of 3



Building Bricks Multiplication Mixed 
2, 5 and 10 × Table

1.
2 + 2 + 2 + 2 + 2 + 2 =

6 × 2 =

2.
5 + 5 + 5 + 5 + 5 =

5 × 5 =

3.

10 + 10 + 10 + 10  
+ 10 + 10 + 10 =

7 × 10 =

Can you add up the bumps on the building bricks to complete these  
multiplication calculations?
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4.
2 + 2 + 2 + 2 =

4 × 2 =

5.

5 + 5 + 5 + 5 +  
5 + 5 + 5 + 5 =

8 × 5 =

6.
10 + 10 + 10 + 10 + 10 +  

10 + 10 + 10 + 10 + 10 =

10 × 10 =
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Building Bricks Multiplication  
Times Table Answers

Building Bricks Multiplication 2 Times Table Answers

Building Bricks Multiplication 5 Times Table Answers

Building Bricks Multiplication 10 Times Table Answers

1 2 × 2 = 4

2 4 × 2 = 8

3 6 × 2 = 12

4 3 × 2 = 6

5 5 × 2 = 10

6 10 × 2 = 20

1 2 × 5 = 10

2 3 × 5 = 15

3 6 × 5 = 30

4 5 × 5 = 25

5 7 × 5 = 35

6 10 × 5 = 50

1 3 × 10 = 30

2 2 × 10 = 20

3 5 × 10 = 50

4 4 × 10 = 40

5 6 × 10 = 60

6 9 × 10 = 90
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Building Bricks Multiplication 2, 5 and 10 Times Table Answers

1 6 × 2 = 12

2 5 × 5 = 25

3 7 × 10 = 70

4 4 × 2 = 8

5 8 × 5 = 40

6 10 × 10 = 100
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